

Platinum Events MIA 310.600.3784 KRYSTAL 818.744.6129

Order Date: January 13, 2023 Due Date: Upon Receipt



Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

> Shipping Address: COURCHEVEL BISTRO 201 HEBER AVENUE PARK CITY, UT 84060

PO:

EVENT DATES ARE JAN 16TH - JAN 24TH, 2023

EVENT INSTALLATION-MONDAY, JAN 16TH AT 10AM *EVENT BREAKDOWN TUESDAY, JAN 24TH AT 6AM*

TRUCK DEPARTURE FROM CERRITOS IS SCHEULED FOR FRIDAY, JAN 13TH EVENING

ARRIVAL SCHEDULED IS FOR MONDAY JAN 16TH AT 10AM

PICK UP (RETURN) IS SCHEDULED FOR TUESDAY 12PM

ARRIVAL TO CERRITOS IS WEDNESDAY OR THURSDAY

Description		Qtty	Price		Total
GREAT ROOM					
	Banquet Table, 8ft Dinner**	8	\$18.00	Т	\$144.00
	SILVER & MARBLE SPECIALTY COCKTAIL TABLES	5	\$225.00	Т	\$1,125.00
	GRAY VELVET 4FT BENCHES *UPHOLSTERY*	6	\$125.00	Т	\$750.00
	SILVER/MARBLE END TABLES	4	\$90.00	Т	\$360.00
her and	Marble Bar, 6FT	1	\$450.00	Т	\$450.00
	Back Bar, Silver	1	\$200.00	Т	\$200.00
			Total GREAT RO	MO	\$3,029.00
IBRARY					
	ASSORTED ACCENT PILLOWS 4-WHITE FUR 2-WHITE RABBIT FUR 4-SILVER VELVET	10	\$10.00	Т	\$100.00
	WHITE DJ BOOTH 6FT (WRAPPED IN MARBLE DECAL)	1	\$375.00	Т	\$375.00

Description		Qtty	Price		Total
	Back Bar, Silver	2	\$250.00	Т	\$500.00
	Ava Sofa, Grey 6ft	3	\$400.00	Т	\$1,200.00
	Ava Arm Chair, Grey	6	\$175.00	Т	\$1,050.00
5-2	Mason Coffee Table	3	\$125.00	Т	\$375.00
	Celine Ottoman, Grey	б	\$60.00	Т	\$360.00
	End Table, Silver	6	\$65.00	Т	\$390.00
			Total LIBR	ARY	\$4,350.00
DEN					
	Celine Ottoman, Off White	2	\$80.00	Т	\$160.00
	GOLD & WHITE FUR BENCHES	2	\$150.00	Т	\$300.00
	ASSORTED ACCENT PILLOWS 3-WHITE RABBIT FUR 2-WHITE OBLONG FUR	5	\$7.50	Т	\$37.50
	CUSTOM SILVER VENUS 8FT SOFA	1	\$850.00	Т	\$850.00
	SILVER & MARBLE HIGHBOY COCKTAIL TABLES	4	\$250.00	Т	\$1,000.00
	Silver Metal Bistro Chair	25	\$21.00	Т	\$525.00
			Total I	DEN	\$2,872.50
TENT					
	ADDITIONAL SOFAS 6FT (PLAN B)	2	\$0.00	Т	\$0.00
	SILVER METAL BISTRO CHAIRS *CREATE A PARTY SUB RENTAL*	50	\$21.00	Т	\$1,050.00
	White Sofa, 6ft *SPRAY SILVER LEGS*	2	\$575.00	Т	\$1,150.00
	Celine Ottoman, White	3	\$80.00	Т	\$240.00
	ASSORTED ACCENT PILLOWS 3-WHITE VELVET 2-WHITE FUR 5-WHITE DIAMOND ACCENT	10	\$0.00	Т	\$0.00

Description	DEER HORN CHANDELIERS	Qtty	Price		Total
		2	\$375.00	Т	\$750.0
			Total T	ENT	\$3,190.0
OUTSIDE TERR	ACE				
	GREEN HEDGE 8FT X 4FT PANELS (WEATHERPROOF)	12	\$250.00	Т	\$3,000.0
	OUTDOOR BENCHES (WEATHERPROOF) *PURCHASE*	5	\$275.00	Т	\$1,375.0
		Total	Total OUTSIDE TERRACE		\$4,375.0
ADDITIONAL					
	SIGN HOLDERS	5	\$0.00	т	\$0.0
	Banquet Table, 6ft	3	\$20.00	Т	\$60.0
	Black Poly 6FT DRAPES	8	\$28.50	т	\$228.0
	OTTOMONS WITH UPHOLSTERY (CLIENT TO PROVIDE FABRIC)	8	\$75.00	Т	\$600.0
	SILVER STANCHIONS	6	\$36.00	т	\$216.0
	SILVER VELVET ROPES	6	\$20.00	Т	\$120.0
	SILVER PAINT (FOR FURNITURE)	1	\$150.00	Т	\$150.0
			Total ADDITIO	NAL	\$1,374.0
Misc					
			Total N	/lisc	\$0.0
Services					
	9.5% SALES TAX FEE	1	\$1,745.95		\$1,745.9
	DECAL OVERNIGHT SHIPPING (FROM LA TO PARK CITY)	1	\$184.97		\$184.9
	TRUCKING & FREIGHT FEE (ROUND TRIP)	1	\$5,500.00		\$5,500.0
	RENTAL TRUCK (TO MOVE RENTALS) (PENDING AFTER WALKTHROUGH BRIAN)	3	\$550.00		\$1,650.0
	ROUND TRIP FLIGHT FEES (INSTALLATION ONLY TEAM)	4	\$236.00		\$944.0
	HOTEL FEES (INSTALLATION ONLY TEAM) 3 NIGHTS	1	\$707.00		\$707.0
	HOTEL FEE	1	\$4,400.00		\$4,400.0
	PER DIEM FEES (INSTALLATION TEAM) 3 GUYS (3 DAY MEALS)	9	\$76.00		\$684.0
	PER DIEM FEES (FOR STAND BY) 1 GUY (10 DAYS)	10	\$76.00		\$760.0
	PER DIEM FEES (BREAKDOWN TEAM)	9	\$76.00		\$684.0
	3 GUYS (3 DAYS)		Q7 0.00		

Description		Qtty	Price	Total
	STAND BY TEAM (LABOR) 1 GUY AT 8HR SHIFT FOR 6 DAYS	6	\$225.00	\$1,350.00
	Install Fee (Monday 16th) 4 GUYS	4	\$224.00	\$896.00
	Install Fee (Tuesday 17th) 4 GUYS	4	\$224.00	\$896.00
	Strike Fee (Tuesday 24th) 4 GUYS	4	\$224.00	\$896.00
	Travel Fee	14	\$200.00	\$2,800.00
	ROUND TRIP FLIGHTS (BRIAN FOR WALKTHROUGH)	1	\$460.58	\$460.58

Notes

Total Products:	\$19,190.50
Total Labor/Services/Misc:	\$24,558.50
Taxes (tax excempt):	\$0.00
Discounts:	(\$0.00)
Total:	\$43,749.00
Payments:	(\$43,749.00)
Balance:	\$0.00